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BCMEngFC1010 SeatNo:
B.Com. Semester - 1 (CBCS) Examination
Oct/Nov. -2019 (NEW COURSE)
COMPULSORY ENGLISH-1 (FOUNDATION)

Time: 2:30 Houyrs Marks: 70
Instructions:

1. A.ll Questions are compulsory.
2. Figures to the rightindicate marks.

Que-1 (@)  Fill in the blanks with proper articles a, an, and the. (Any Five)

(05)

1. Indian Constitution is unique in the world.
2. It was good presentation.
3. Mr. Suketu is honest teacher.
4. I have recently noticed European citizen in our street.
S, Austria is interesting place to visit.
6. Could you repeat question?
7. Prime Minister announced building new airport in the town.

(b) Fill in the blanks with the proper verb form given in the bracket. (Any Five) (05)
1. Dinesh often Junagadh. (to visit)
2. She just her jogging. (to finish)
3. Sumit at this time last week. (to travel)
4. When you tomorrow? (to come)
5.  King Vikram this Fort in 6™ century. (to build)
6. Look, they behind dog. (to run)
7. Students their assignments this time next week. (to submit)

(c) Identify underlined parts of speech. (Any Five) (05)
1. You performed nicely in the competition.
2. There was a heavy flood in Karnatak.
3. Please follow the instructions.
4. You will have to be present on time.
5. Hurrah! India won Gold medal.
6. Bring cold drinks and breakfast.
7. Swimming is best exercise.

(d) Fill in the blanks by choosing the correct preposition from the bracket. (Any Five) (05)
1. Raxabandhan falls___ Monday. (in, of, on)
2. You are supposed tostand _ Bus-stop. (at, in, on)
3. Prepare your nest test. (under, for, off)
4. He jumped the deep water. (onto, into, over)
5. There is a trade war ____ America and China. (among, between, on)
6. Train coming Mumbeai is late today. (to, along, from)
7. Let’s talk our drama script.

Que-2 (a) Write a paragraph with the help of given points. (Any One) (05)
1. Importance of Festivals in our life.
Introduction — types of festival — why do we celebrate — role of festival in our life —
' conclusion.

2. I want to become.....

Introduction — what is your goal — why — how will you serve the nation —
. conclusion.
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ining information of LClectronic itecms
aini

i t
llowing table con 2 ! o,
b) Read the fo s given be 7 __
( Showroom and answer the qlfcsnm £ Total Stock | Sold Remaining
Elcctronic Items __6__________, T _____.,_——~M
| Elcctronic 7777
L C——35 |30
Refrigerator "’—()‘/L—6—6" 7
- :
Washing Machine _%________ = - S
Home-theatre = 51150
Mobile 800 | ©0F
| Mobrle
Questions:
1. What is this table about? -
2. What is the total stock of Mobile?
3. How many TVs are unsolc'l? )
4. How many washing mach.m_es are sold?
5. Which item has less remaining sotocl)d?
Write a resume for the given post. (Any One o .
© lrl ) Draft a Resume for the position of Receptionist Surya Auto-Mobile Showroom,
MG road, Surat. . ' . .
2 Draft a Resume for the post a Manager in Bank of Baroda, Ra_]k-ot highway, Sarkhej.
: about latest furniture for newly purchased Flat in Baroda. Prepare a

(d) Customer is enquiring .
dialog between customer and manager of Neelkamal Furniture Showroom.

Answer the questions in one line. (Any Six)

Name the owner of Pipalnagar bank.

How many stages of life are described by Shakespeare?

Where the Mind is without . Fill in the blank.

Who is the co-founder of Apple?

Mother works as a cook. Write true of false.

Vishwa Bharati University is located in which town?

All the men and women merely . Fill in the blank.
8. Who is Deep Chand?

(b) Answer the questions in brief, (Any Three)
L, What is the story behind the name “Apple”?
2 What is the message in the poem ‘The Road Not Taken’?

A Describe any two stages of life narrated by Shakespeare.

. Why did the boy feel fear of going outside of home?

. What were Tagore’s various skills?

Que-4 Short Notes. (Any Two)

1. The Boy Who Broke the Bank.

2. Tagore’s Vision for India.

3. Character of Mother in the story ‘Black Boy’.

4. Lessons learnt about making choices.

Que-3 (a)

Novawu .

3
4
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BCMbecCC1010 seatNo:_ Y4139

B.Com. Semester - 1 (CBCS) Examination
Oct/Nov. -2019 (NEW COURSE)
BUSINESS ECONOMICS - 1 (CORE)

Time: 2:30 Hours Marks: 70
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
ysor gl wdas Az g7 Husla wdase 3w U sidas seudl, (20)
Aadl
ys-1 gRell Reid 2w qudliicell Rgid axmal. Aglells2gud dell Gualolldl asgual.
ys-2  Hiolell e watdl Aed g? dett YsiA s W weadl. (20)
Aadl
yg-2  uidtell s wetcl U 1idtefl wHAGH watdt Ae@ g? Aoll Gudt ¥gudl.
y#-3  dedl HodRel [ Gelewl s s wd el (15)
AU
ys-3  AidBRS 55U U (L&l 52Ul ALl %LUl
ys-4 56 W, dAA WA el Alitod wAoll vl GeleWL el wiglA WA Al (15)
AUl
ya-4 A6l Heedl gsouoni wA-Gautest €2 Aol iR Aol M.
ENGLISH VERSION
Que-1  What is business economics? Explain the nature and scope of business economics. (20)
OR
Que-1  Explain the incremental principle and equal marginal principle its usefulness of decision.
Que-2  Define the elasticity of demand? Explain its types with figures. (20)
OR
Que-2  What is income elasticity of demand and cross elasticity of demand? Explain its practical
usefulness.
Qué-3 Explain the law of diminishing return with the help of diagram and illustration. (15)
| OR |
Que-3  Examine the advantages of internal and external economics.
Que-4  Explain the concepts of total cost, average cost and marginal cost with examples and figures.  (15)
OR
Que-4  Explain the interrelationship between cost and production shortrum with help of the figure.
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BCMfacCC1020
B.Com. Semester - 1 (CBCS) Examination
Oct/Nov. -2019 (NEW COURSE)
FINANCIAL ACCOUNTING - 1(CORE)

Seat No :

Time: 2:30 Hours
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.

Marks: 70

UH-1 A AU B ofl UL clL1-7-20190t0 o AU € A D ofl AL WA RAsicuell 522 5 D, A waA B (20)
UASA 3:2010 YHIQUL A8l-ofslet aFA B, A AR Ao wig w2 oA Y@ B,
AU A Ul B of g Ud3Y.

tai 3. Mesda 3.

Y8 v Usloll 27,000
A 36,000 sllu? 3,000

B 12,000 | 48,000 | Aslel 6,000

Uil eiSln 5,000 | 5 30,000
ABLELRL 50,000 | EcllELR 45,000
ols AR §ise 11,000 | &l& UR AS5S 3,000
11,4,000 11,4,000

Helwotoll 2L (1A yd B.

(1) Hsloll U glluRell BHdAHl 20% ctu? 524l

(2) s 3.27,900¢( BHA Q.

(3) wudlell Bud 3.5,000 awatel.

(4) EAUER UR WAWIY Aottt 2% Fecll uuicll.

(5) A 14l Boti A58 otcl A Acl o8l
AU ABell Udlotl A ust oitd scll wMelltt WD A %33 vitdl dauR 53\

Ul

X ual Y A5 Ulotl 3:10t0 YHIGlotl U(ER B, ll.31-3-2019 ARAA Y A zofl el YSRA  (20)
dl el Al W qDwot s2clle] otsfl 58 ¥ uA Z 2:101 YRl woleld B, otel Ao
olti XYZ %, BHI otflejslote] YHIQL 3:2:1 3. oA Ulotl wist wA (1A 3ol B,

YH-1

ol L2l XY 3. YZ 3. RICER XY 3. YZ 3.
Wl X 2,40,000 -- | USslot 50,000 -
Y 1,60,000 | 2,00,000 | H2llotdl 1,50,000 | 1,60,000
2 -- | 1,00,000 | $6TuR 20,000 6,000
UallHAl 50,000 | 1,50,000 | 15 1,20,000 | 1,40,000
ABLELRL 1,20,000 | 1,16,000 | EcUElRl 1,60,000 | 2,00,000
XY ofl Udle{l Aot -- 1 1,00,000 | A8S 6l& U | 30,000 | 90,000
ds Aot 80,000 -- | ds Ras 20,000 | 10,000
Yz ol Aot | 1,00,000 -
Asclle --| 60,000
6,50,000 | 6,66,000 6,50,000 | 6,66,000
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dallaret 2Rl o1 waudl edl.
(1) X wal Y ol Uéleti stotoll (Bt 3.1,00,000 awalell.
(2) X A ¥ ol Hellotdloll Biet 3.2,00,000 il ¥ wa z ol uallatdlell (BHd 3.2,25,00q

atateuHi el
(3) XY 33 vZ ol A0 wudl AefsR 3.50,000 el 3.41,000 AGEA el el )

xvz ui wudlvd el «tel. ,
(4) atcll AL edllerAell 3P\ el ott-ofsAletatl yaei vatell B, u 1R ewslled

o33l Ass clad wudl |8 %A
dll.31-3-2019¢] atcll Alef uLg U dAR 53,
us-2 WHELALEL B dSelaRell (A dl.1-4-20190l 3l 60 2l.cl. A2 €25 3.20,000( (2

Badell 95 Acl €35 3.25,0000( cRRUL BuA sl duct HE Hsel ua oA Yoia

wal ysell.
il 3.12,000, o2 3.7,000 e w2l 3.11,000, Qw2 §& ALl UR 5% s ud

Guz Qe uR 2% AW BN s Aadal 5E1R B.

@esd 3.3,00,0000(l AR Hdell Yecioll % ARl 8l sl ua dlesi@s uRd
5. 22 A g9l A o RBad al¥ls 120l €3 dsul datdll. ReAlHl UsBUA gaell seui)s
o2 ofsallel 2 uA it 5usllA 3.85,80000 ELC HYR 2Av2A.

QRed Hic Slslelell W2 3.5,500 vl AURL Wdetl 3.9,700 Y5,
dl25-8-201901l 2% [Qerd WAL AU LsSL Yuol:
40 A.dl. Az €35 3.30,00001 11 As3L A==l
10 A.dl. Az €25 3.32,00001 AU Yelosiol GUR AL
03 .. Az €25 3.30,00001l A GEAA US| AAMHEL UA Feloelell Azall.

GEal ollel? %2 22 ua dlalle WAl 3RA 0.80 T AW Al asiau. (A% doll
wdell Qell ollsadl 2510l dls glge Asell w2l

Guzell Qotdl urell sl wesat (Mietull)eti AU BUSAMA vid A [@Qest (uscllait)e]
Ulq oletldl.

U
ya-2  WHELAEAL SNUA YRonotdlRell M 3.8000l s Aal 500 WA e@au Bud uz 20% (&

R 1A A A erlQa BuA wusdell Auan Aseal, WA <l 3.8,000, o 3.5,000 Ys.
WA AFt UR 3.2,00,00000l 3 el edoll §41 ctull. B wUMA 1513 U 3l

URA 2 &L 1 HRAU Gle 6%l €2 cldl. URAA 7% S AU 2% Ll s
auelell B, AUMA FeAWE wal 3500, LA 3.2,500 A B Wl 3.500 Yysead. WO
50 Zl.oll. 2yl ettet upaL it sus{lAl 3.30,00040 €Ll R sl

UM 300 WA €35 31,2000l BuA Asdell wA 100 2RA €25 3.1,30000 B
Mol Gutz Al

ULt U3 %38 vt daue 53,
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o=

sudeed QUK 38 wid NA Wdudg wid dm s
wRal
Y3 OK N WA R WE syl Nue wiusn o dNd fan AR ARwime wWesR 320l (19)
e «sd] 5y, AR Axen Wyt 8 Wikl 35.40.000 Akl wef el WD
WL s
dget s wiennid]l Wl R wad yeda sdl wxdl 34.00.0000 RMEwKA
3.6.00,000, Wil 3.40,000 WV =l 330,000 K N Y3 B, 355.00071 B Rzur
Helet N 13@ B, YA R 3.40,0009 alst @A 8.
Yt a2 51 WA wiél <l nddl ¥s K 3.25,00040 Brd @ 2l AR wals
3.20,000<l (Bd N @8 212 UR €Use R 3.30,00040 Bid @9 2l Wi+l 310,000 Suvl
3.5.00000 (53R (udel 75% 3yyw) s (R I WA sl 12xa1 Burel
aawsl Heu el BHud 20x W Bua x lxﬁﬂ REY
el a2 Ranedl wdlae a8 2Add 8. Ax Lu“l st A Wi, dysd As wid,
eealletdel 38l widl WA Rdureg wiq Qél-d zﬁus dur s
SUCH
ys-4 A B ud C As Udleti ewollet &ctl, A wefsN 3200 YHgod aAR-qgsaust adUal gal.  (15)
dl1-1-2019¢0 Ay AN Udlof Q' 53 AR Axed W RAY A Y &d.

! wel eI 3 Rasa 3
e A 20,000 Rasdl | 45,000
8 12,000 Ass 5,000
c 4,000 | 36,000
AERL 14.000
50,000 50,000
A3 erctlHl A Yy Rasdletl Gusl: yan sidl 38,000, M e1adl 3.13,000, AN sl
3.12,000.
34 awiell weld wud Assell 253 253 afugll eadlad uas dur sA
uadl
ys-4  Guaell Bl el Heu ojsatetell uald yru callerd a2 Assell adugll sl (15)
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Que-1 The firms of A and B and that of C '
B used to share profit & Loss in the Ratio of 3:2

Que-1

Que-2

R

and B stood as follows.
Balance Sheet of Messrs A and B.

ENGLISH VERSION

and D agreed to amalgamate on Dt.1-7-2019, A ang
on that date the Balance sheet of 5 (20)

Liabilities Rs. Assets Rs.

Capital A/c. Buildings 27,000
A 36,000 Furniture 3,000

B 12,000| 48,000 | Investments 6,000

Reserve Fund 5,000 | Stock 30,000
Creditors 50,000 | Debtors 45,000
Bank overdraft 11,000 | Cash on Hand 3,000
1,14,000 1,14,000

The terms of Amalgamation were as under.
(1) Building and Furniture to be raised by 20%.
(2) Stock to be valued at Rs.27900.
(3) Goodwill to be valued at Rs.5000.
(4) Bad Debts Reserve to be provided at 2% on debtors.
(5) The new firm not to take over Investments of A & B.

Draft Journal Entries to close the books of the firm of M/s. A and B and prepare

necessary Accounts.

OR

X and Y were partners sharing profits and Losses as 3:1. They agreed to amalgamate as 20)
on 31-3-2019 with Y and Z who carried on similar business sharing profits and losses
as 2:1 and form a new firm XYZ. Where they would share profits and losses in the
ratio 3:2:1.
The Balance Sheets of both the firms were as under.
Liabilities XY Rs. | YZRs. Assets XY Rs. | YZRs.
Capital: X 2,40,000 -- | Building 50,000 —
Y 1,60,000 | 2,00,000 | Machinery 1,50,000 | 1,60,000
Z -- 1 1,00,000 | Furniture 20,000 6,000
Reserves 50,000 | 1,50,000 | Stock 1,20,000 | 1,40,000
Creditors 1,20,000 | 1,16,000 | Debtors 1,60,000 | 2,00,000
Loan of XY firm -- | 1,00,000 | Cashinhand | 30,000 | 90,000
Bank Loan 80,000 -- | Cashatbank | 20,000 | 10,000
Loanof YZ | 1,00,000 --
Advances - | 60,000
6,50,000 | 6,66,000 6,50,000 | 6,66,000

The Terms of Amalgamation were as under.
(1) Building of XY firm was valued at Rs.1,00,000.

(2) Machineries of X and Y and Y and Z were v

(3) Goodwill valued at Rs.50,000 and Rs.41,000 of XY firm and YZ firm.
©))

sales.

Rs.2,25,000.

alued at Rs.2,00,000 and

Respectively but goodwill does not appear In the books of XYZ new firm.

Partners of the new firm would brin
adjust their capital according to the n
Pr_epare the Balance Sheet of the new firm
Ajay of Ahemadabad consigned 60 T.V. §
Rs.25,000 to Vijay of Vadnagar on 1-4
Insprance premium Rs.12,000, freight
entitled to get 5% commission on tota]

Page 4 of

g necessary cash to pay other partners to

ew Profit and Loses Sharing Ratio.

as on 31-3-2019,

ets. Each of Rs.20,000 at an Invoice price of (20
-2019 and Incurred the following expenses.

Rs.7,000 and other expenses Rs.11,000. Vijay is
sales and 2%, Del-credere commission on credit

Qu

¢

uc



due-2

ue-3

1e-3

Vijay accepted a four months bill of Rs.3,00,000 drawn by Ajay and Returned
it Immediately. Ajay discounted it on the same day@12% per annum in a bank.
During transit, 5 (five) T.V. sets were heavily damaged due to accident and the

Insurance company admitted a claim of Rs.85,800.
Vijay paid Rs.5,500 for clearing charges and Rs.9,700 for selling expenses.

According to “Account Sale’ sent by Vijay on 25-8-2019.
40 TV sets were sold at Rs.30,000 each for cash.
10 TV sets were sold at Rs.32,000 cach on credit to Jitendras.
03 TV sets were sold at Rs.30,000 each to Uday on Recommendation and

Responsibility of Ajay.
Uday was declared Insolvent and 0.80 Paise Per Rupee was Received from the

Receiver.
Vijay sent a bank draft for the payment duc from him.
From the above Information, preparc consignment Account and Vijay

(Consignee) Account in the books of Ajay (Consignor).
OR

Gopal of Ahmedabad sent 500 Radios each of Rs.800 to Amit of Surendranagar for
consignment. The Proforma Invoice so as to get profit of 20% on Invoice price. Gopal
paid Insurance Rs.8000 and freight Rs.5000. Gopal drew a bill worth Rs.2,00,000
having maturity period of 3 months. Which was accepted by Amit. The bill discounted
at 6% after 1 month. Amit is entitled to get 7% commission and 2% del credre
commission.

Amit paid transport expenses Rs.500, Insurance Rs.2500 and Advertisement
Rs.500. During the transit 50 T.V. were completely destroyed and the Insurance
company accepted the claim of Rs.30,000. Amit sold 300 Radios for Rs.1200 each by
cash. 100 Radios for Rs.1300 each by credit sales to Mit.

Prepare necessary accounts in the book of Gopal.

Kamlesh of Gujarat purchased 1000 meter of clothes @ Rs.60 per meter and sent to
Mahesh to sale it for Joint venture purpose. Kamlesh spent Rs.2000 to dispatch goods.

Mahesh received goods and paid Rs.5000 for expenses. Mahesh sold 900
meters @ Rs.90 per meter and paid Rs.2520 for selling expenses.

Kamlesh bought Remaining stock for Rs.7370. Mahesh is entitled for 5%

commission on sales.
They share profit equally. Prepare joint venture account and Mahesh’s account

in the books of Kamlesh.
OR

K.N. and R agreed to construct a building for a company. They decided to share profit
or loss in 3:2:1 Respectively. The deposited Rs.5,40,000 in their joint bank account as
per their profit sharing ratio.

Expenses were paid from their joint bank account us under,

Wages Rs.4,00,000, materials Rs.6,00,000, plant Rs.40,000 Architect fee paid
by K Rs.30,000, mixter machine brought by N Rs.55,000, where vehicle brought by R
Rs.40,000.

On completion of the work “K” took away materials in stock for Rs.25,000,
“N” took away mixture machine for Rs.20,000 and “R” took away vehicle for
Rs.30,000. Plant Realized Rs.10,000.

Rs.9,00,000 (being 75% amount of contract price)
Was Received in bank draft and 12% debentures were Received for the balance which
were purchased by “K” at 20% Less to its face value.

Page 5 of 6

(20)

(15

(15)



Que-4

Que-4

Prepare Joint venture account, Joint bank account, partners account and
debenture account in the books of the firm, assuming that accounts have been sett]eq in

between partners.

A, B and C who were sharing profits and Losses in the proportion of 3:2:1 decideq to
dissolve that firm on 1-1-2019 when their Balance Sheet was as follow.
Liabilities Rs. | Assets | Rs.
Capital: A 20,000 Assets 45,000
B 12,000 Cash 5,000
4,000 | 36,000
Creditors | 14,000
50,000 50,000
Assets Realised gradually as under in three Installments.
First Installment 8000.
Second Installment 13,000.
Third Installment 12,000.
Prepare a statement showing piecemeal distribution of cash according to surplus capital
method.
OR
Show the distribution of cash among the partners by maximum loss method. On above
Information.

Dace ~
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BCMcolCC1040 Seat No :
B.Com. Semester - 1 (CBCS) Examination
Oct/Nov. -2019 (NEwW COURSE)
(15 COMPANY LAW - 1(CORE)

Time: 2:30 Hours Marks: 70
Instructions:

1. All questions are compulsory.

2. Figures to the right indicate marks.

Ys-1 (o) “Susll A stAeL s uAACl sBM UG B, 3 B sillad] URAC U AHe HA HAA (10)
8", Suellell cttal@sczl tauetati vl 24 Rty IRILIN
Y- @) Suelluu-201300 3t ol Roteus woudl. (10)
AYal
ust-1 (A)  Wedll suellell 2euuon @A aglq),
UH-1 (B)  HHAL:-

(10}

a - A5 1ol $usll (One man company) (05)
- o8 odl 52l $uell (Non-profit company) (05)
UH-2 (A)  deauat (RRetsy 2l AARRAA6A) N2l Y? dof Heel UHAAL (10)
UH-2 (B)  ([QAsuet Witeli WECle] RAEa Hnond, (10)
; UYL
Hrtoll Guezal Rgict wrend. (10)
“eUA-A" (Table-A) Ne@ 9?7 Aui WL Aladl Qaidl aglq. (10)
Hedl g1l WDs ssAull QAR R0 sQUAL. (15)
Ul
ARLELR sl [R5 sl QAR Ao QUL (15)
Al efluglleti st xue, (10)
R ootz (05)
UYLl
gsalltl cul,

(15)
- aguRlutat o),

- o8l Ysaude RRsos.
- Bd2e] (wmdl) RBRsos,

*********************
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Que-1 (A)

Que-1(B)

Que-1(A)
Que-1(B)

Que-2 (A)
Que-2 (B)

Que-2 (A)
Que-2 (B)
Que-3

Que-3
Que-4 (A)

Que-4 (B)

Que-4

C o

ENGLISH VERSION

“A company is an artificial person created by Law. It bears common seal apart from g W

permanent existence.” Explain this statement by considering the characteristics of 5

company.
State the main new provisions of the company Act-2013.
OR
Explain the procedure of incorporation of a private company-
Explain:
- One man company

- Non-profit company.
What is memorandum of Association?

Explain the statement in lieu of prospectus.

OR
Explain the doctrine of ultra vires.

What is “Table-A?" Explain its contents.

Describe in detail the procedure of voluntary liquidation by members.

OR

Describe in detail the procedure of voluntary liquidation by creditors.

Explain the advantages of listing of securities.

Stock exchange.

OR
Write short note on.

- Divisible profit.
- Unpaid Dividend.
- Final Dividend.

ke ok ok ok ok ok ok ok K ko ok ok ok ok ok
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SeatNo . ____

BCMbomCC1030
M B.Com. Semester - 1 (CBCS) Examination
Oct/Nov. -2019 (NEW COURSE)
BUSINESS ORGANIZATION & MANAGEMENT - 1(CORE)
Marks: 70
Time: 2:30 Hours
Instructions:

1. All questions are compulsory.

2. Figures to the right indicate marks. )
_______,__,_-------------------—----—-—-—----—-aia sl (20)
g1 et wel, &g uel sAaA A -

vadl
yst-1  dAlEtote] Heed wal stal Radtedl 22l 5.
ys-2  letell ctalell wal cggRUsllell USAR UR Al el (20)
AHUedl
ysez  wlegetsll yBa sl
yg-3  cdcReletell e U 3 Al (15)
vl
ys3  cleRaldnl M2 ullell QuruRel Y 87
ya-4 Qagllell erzdland U us@ ur 2wl s3l. (15)
waal
ysi-4  adlell 95l vial UstA uHstel
ENGLISH VERSION
Que-1  Explain meaning objective and scope of management. (20)
OR
Que-1  Discuss importance area of management.
Que-2  Write a note on nature of planning and its strategies formulation. 20)
OR
Que-2  Explain planning procedure.
Que-3  Give meaning and purpose of organizing. (15)
OR
Que-3  What is basic considerations for organizing.
(15)

Que-4  Discuss need and method of directing.
OR

Que-4  Explain qualities and types of leader.
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m BCMentDS102A Seat No:
B.Com. Semester - 1 (CBCS) Examination

Oct/Nov. -2019 (NEW COURSE)
FUNDAMENTALS OF ENTREPRENEURSHIP - 1 (DISC. SPE. ELE -2)

Time: 2:30 Hours Marks: 70

Instructions:
1. All questions are compulsory.,
3. Figures to the right indicate marks,

e e —
N - - o PR — - S
- S—— ==
— - -—— cnssam

uket QL R el ol dett dalell wal s, (20)
WA

gl Rl RN NSRS cleit Rsta 1R Qeuni Wat Watss Wtz agda,

gr-2 @RaRl GO WS adtett Wyl Rstast sk SSHL WM A, (20)
WAl

12 G SRl el WA Al ¥l

1-y UleR RY S Aauadete] W Getswl Wl e s, (15)
WAl

i-3 G eRsatet @Asie Qs WReol wmal

5-2 G WeRsl SN WA A5 sl WHEs Yeunstd]l Wina, (15)

A

-4 G WS WUEs yUNEIA Wl AHnel, A dsell AHUEs yauneld A,

ENGLISH VERSION

pe-1  Explain the meaning of entrepreneur. Discuss its characteristics, (R
OR

pe-1  Describe the motivation steps taken in India for the development of entreprencur class.

pe-2  Explain in brief the Reasons of insuflicient development of entreprencur class in India. (20)

OR

)e-2  Discuss meaning and characteristics of Business Entreprencurship.

}le Clarify the form of innovation presented by Schumpeter giving examples. (15
| OR
le-3 Explain the determining factors for the entreprencurship development.

19

e<4  Explain entrepreneur’s social responsibility toward nation and customers,
OR
e Explain the meaning of social responsibility of business entrepreneur and explain their social

responsibilities towards the nation.
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m BCMcomDS102B Seat No :
B.Com. Semester - 1 (CBCS) Examination
Oct/Nov. -2018 (NEW COURSE)
COMPUTER APPPLICATION IN BUSINESS (DISC. SPE. ELE -2)

Time: 2:00 Hours Marks: 50
Instructions:

1. All questions are compulsory.

2. Figures to the right indicate marks.

ys-1 o{lAetl walol cul., (14)

(1) Srzeo(l USRA UHen AL
(2) 8120l cllatellsdl dxendl.
wcl
(1) sLzgeell canvaul 2l Slarzjz240l 6Als SlaaolM WMestdl,
(2) slnyee(l Audlett UsA WAL,
yg-2  o{lAeil rcltol cvil. (12)

(1) Betye B Aed 9j? Gels21.l WA UM AL
(2) VDU UR &salltl vl

vl
(1) 2uGeye Bausxs Aad 9j? GelewL WA UM AL
(2) MoeRell UstA U Esella clull.

ys-3  oflAell scllel il (12)
(1) (46)10 = Covueeennnen Y
(2) (263)10 =(eerrnene i
Al
- ys-3 (1) (11101101), = Ceeeneeee. )io
(2) (1M)yg = Corerrennnee )s
Yy#-4  oflAell wallol AVl (12)

(1) 8o22ale Histilell QRY wgaQ20 AxHen Al
(2) Bo2rale WA g? Yoeralee(l Acuall AHAA.
Ul
us-4 (1) o{lAott YRt ettt cuil:
DNS, E-Commerce, FTP, HTTP, TCP/IP, E-Mail.
(2) o{lAott YR1 ot cvll:
KBPS, WWW, ISP, IP, MODEM, HTML.

3¢ ol o e ok sk ke afe o ke ok e ol ok ok ok o ok ok
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ENGLISH VERSION

(14
Que-b Answer the following questions.
(1) Explain Generations of Computer.
(2) Explain characteristics of Computer.
OR
1 1ag uter.
(1) Define Computer. Explain Block Diagram of Comp

(2) Explain types of computer memory.

Que-2  Answer the following questions. =
(1) What is Input Devices? Explain with examples.
(2) Write note on VDU.
OR
(1) What is Output Devices? Explain with examples.
(2) Write note on types of PRINTERS.
Que-3  Answer the following questions. (Is
(1) (46)0=(.......... )
(2) (263)10=¢(.......... )i
OR
(1) (A1101101), =(.......... )0
Q) (1 )e=(co )
Que4  Answer the following questions. (1
(1) Explain various connection methods of Internet,

(2) What is Internet? Explain services of Internet.

OR
(1) Write full forms: DNS, E-Commerce, FT P,H

'ITPQ TCP/[P, E-Mail
(2) Write full forms: KBPS, Www, ISp, IP, MODEM, HTML

t**t*##*##******#****
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BCMpssDS101A Seat No :
B.Com. Semester - 1 (CBCS) Examination
4) PERS Oct/Nov. -2019 (NEW COURSE)
ONAL SELLING AND SALESMANSHIP — 1 (DISC. SPE. ELE -1)

Time: 2:30 Hours

OR

: Explain the functions of a sales manager.

Discuss the various stages of the sales Routine.

*#**#***#*********#**

Instructions: Marks: 70
1. All questions a
5% \Figtiree fo'dh r'e cofhp_ulsory.
________ e right indicate marks.
YH1 o e - o
2) AR AUl el uR YR WAl (20)
AWyl
UH-1 (A
(0{: ‘C;iG?tom Qugell yeuat ugRalell 2l 53, (10}
s UG el B, totelt ool uall, (10
¥ AUl ' : |
YRS AQAG5A] Heeel, FRAERD 1A HalelRl Aredl. (20)
vUAL
H-2
" U QAR 50U A 50U, Ristiot UR i D, wodl,
#-3 :
Y AR A R g7 URAR s At Hele stiet Ag ASA? (15)
- wA
UA-3 () OUes altadl et HR Gald B? aiudlel Asta s2al dizell QRN ug@a uAl, (08)
(o) Ulesle] taulel Waew Hzell QRN ugRA () dnedl. (07)
Us-4 (W)  AAEL Aol 3 A 5@ W dl, ©3)
() UYRS UMM AR Hoeel W d, (07)
12) A
Ysi-4 (3) AL AaerRetl stall axedl.
(o) Al stictdl (Routine)ell dutsstzll UL
ENGLISH VERSION :
Que-1 Explain objectives and process of personal selling. (20)
OR
Que-1 (A) Discuss the Direct selling methods of personal selling. (10)
(B) ‘Salesman are born not made’ — Discuss. (10)
Que-2 Explain the importance benefits and limitations of salesmanship in modern time. (20)
OR
2 Salesmanship is an Art, science and profession, Explain. ) i
832—3 What is sellli)ng points? The salesman should have knowledge of what types of selling (15)
: points.
OR _ .
Que-3 (A) Why does the customer arise objection? Discuss the various methods of disposal of (08)
objections. ) . (07)
(B) Explain the different methods of attracting attention of customers. 05)
Que-4 (A) Explainthe objectives and functions of sa]es QTgifmza“O“- ) (0})
(B) Explain the importance of the sales organization in modern time.



647
BCMbm1DS101B SeatNo:_____

B.Com. Semester - 1 (CBCS) Examination
Oct/Nov. -2019 (NEW COURSE)
BUSINESS MATHEMATIC - 1 (DISC. SPE. ELE -1)

Time: 2:30 Hours
Instructions:

1. All questions are compulsory,

2. Figures to the right indicate marks.

US-1 (@) MU ={1,23,4,56}A-= {2 3, 6}
B = {3, 5 6} ustA ¥,

(i) (AuB) = A AB
(i)  (A"B) = AUB

() ol Qetlell vy QL
(1) Astél s,
(2) d-ls 2w
(3) wiedl 2w
(4) AL 2L
(5) Y5 21aL.

Ul

Marks: 70

(10)

Ust-1 (@) WA ={56,7}B={7 8}C={5 8} a usiA ¥ (i) Ax(B — C) = (AxB) = (AxC) (10)

(i) A x (BAC) = (AxB) N (AxC).
(b) WA 52 3. A - (A-B) = AnB.
ys-2 (a) o{lRAcunHiell ‘0 ol Gud al

(1) 14p, = 2184.
(2) 3np; = (2n+1) p,
(3) 10p,.; : 11p,., = 30:1

(10)
(10)

(b) 32Cl otcll 2AEL [Qatict’ (VISHANT)sll oltll Aol GUAdL 53R olofl ab? Auiell el (10)

V uay e 6317 B2ClHi V yuM U Aal T 20[dH eud sA?

el
us-2 (a) ol Qouiel xell Bt 2t (10)
(1) 12¢5 + 2(12¢,) + 12c, = l4c,
(2) oQAetiell n o r UL
np, = Nnp,., ¥l nc, = nc,
(b) A5 Aol 5 u¥e, 3 cllet A 2 ctet estdl B, 3ecll A 3 st Aatl 21 ¥ B2l (10)

(1) A8 Lot Ll Bl
(2) A £sL AMeL 5C1R sl As YEL ol EU

(3) €35 2210 As €8,
Page 10f3




UR-3 (a)

UN-3 (a)

(®)

UR-4¢ (a)

®)

UR-4 (a)

()

Que-l (a)

®

Que-1 (a)

(b)
Que-2 (a)

(b)

Sy 1) o Qaarel s i ue A (o

+
(”:‘-' + ) el Ractagietl Hea uel Q. o
-‘ l‘.
h el
" ; ue ol
WRA 5AY, (3e7+ 3)7 ot Qg ASUYL WAN (0:
i Q. (o;
=, M\ = %
WSV - (V5 =vV2) _
NdaTeet WA alTalet R2A g2 ds G0 waual. o
Q2 RA w2el 420 a¥ Al Q. | ©
a: 40 S0 60 70
ANfl (inRs.) 65 72 92 12
Al
waoll W@l . ©
N 1968 1970 1972 1974 1976
QWK (in ‘000" Rs.) 148 157?181 202
Log33 S M Log20 = 0.3010, Log30 = 1.4771, Log38 = 1.5798. 0
0N '-“.\:\
ST ENGLISH VERSION
IfU={1,2.3,4,5,6) A={2,3,6} (1

B = {3, 5, 6} then verify that.

(i) (AUB)'=A'AB'
() (AnB)'=A'UB'

Define Following. (1

(1) Singlton Set

(2) Universal Set

(3) Null Set

(4) Union Set

(3) Complement Set.

OR

IfA=1{5,6,7}, B={7,8} C={5, 8} then verify that (i) Ax(B - C) = (AxB) - (AxC) (!
(i) A x (BAC) = (AxB) M (AxC). |
Prove that A - (A-B) = AnB.
Find value of *n’

(1) 14p,=2184

(2) 3np;=(2n+1) p;

(3) 10ppy : 11pa2=30:11
How many new letters can be formed using all the letters of word
of them start with

5 ‘VISHANT*? How many
V'? How many of them start with V and end with T?

Page 2 0f3



Que-2 (a)

(b)

Que-3 (a)
(b)

Que-3 (a)
®)

Que-4 (a)
(b)

Que-4 (a)

(b)

OR
Final value of x.
(1) 12¢5+2(12¢,) + 12¢; = 14c,
(2) Final value of ‘n’ and 1’

Npr = npyp, N = neg,

In a bag 5 white, 3 green and 2 red balls. In how many ways can 3 balls be drawn from it

such that (1) 3 balls of same colour (ii) 2 balls of same colour and 1 different (iii) One ball

of each colour is included.

Find 5% term in Expansion of ( + é)”

Find middle term in Expansion of (z_x ~2§- d
y

OR

Prove that in the Expansion of (Sx2 + %)7 there is no any independent term.

Find Value of

(V5+/2)' - (V5 — V2’

Explain Interpolation & Extrapolation and its uses.
Final annuity at the age 42 years using following data.

Age 40 | 50 | 60 | 70
Annuity (inRs.) | 6.5 [ 7.2 | 9.2 | 12

OR

Find missing value.
1968 1970 1972 1974 1976

? 181 202

Year:
Sales (in ‘000’ Rs.) 148 157

Find Log33 if Log20 = 0.3010, Log30 = 1.4771, Log38 = 1.5798.

s ok ok ok ok ok 3k ok 3 ok ok ok ok ok ok ok ok ok ok ok ok ok

(10)

(10)

(0%)

(07)

(08)

(07)

(08)
07)

(08)

07)



SR=10 BCMbf1EC101C SeatNo: _
B.Com. Semester - 1 (CBCS) Examination
Oct/Nov. -2019 (NEW COURSE)
BANKING AND FINANCE — 1 (ELECTIVE-1)

Time: 2:30 Hours Marks: 70
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
Ya-1 ds NAe@ ¢? etReiui ALY [R5 ABdLA Geatel AU [Asid aglal. (20)
Al
it AUYES ARl iciRs cglicl 3232 2ol RQRY g FoHi URUA .
Ya-2 sl i Wetadl aud s2atell AR wUA ottt gl Al 5. (20)
vUdl
YH-2 (U)ol wueleti ystd qeid. (10)
Y-z (o) oflAett wiAetdell dsegcll . (10)
(1) WRRA = (2) Aoz ¥s sudll.
Ys-3 catwidl ABeti vt stalel uad 53, (15)
wYd|
ysi-3 Gus Aldl, ri2dl R wiels QA oAt el
Ysi-4 l52-01850ll Wil oltl 53] ¥ A HZell ARNe] cAglet 53, (15)
Ayl
ys-4 ctutdl alslott otlgL stall Amencll.
: ENGLISH VERSION
ue-1 What is the meaning of Bank? Explain the emergence and development of Modern (20)
Banking system in India.
OR
ue-1 Write in short the different types of methods of Money transfer in Modern Bank.
1e-2 Discuss the procedure for opening bank account and important document. 20)
OR
“1e-2 (A) Describe the types of saving deposit. (10)
‘1e-2 (B) Explain the following types of Account holder. (10)
' (1) Married women (2) Joint-stock-company.
ie-3 Discuss the main functions of Commercial Bank. (15)
| OR
&3 Write a note on Pay-slip, withdrawal slip and Passbook.
e-4 Describe the circumstances for closing Account between Banker-Customer. (15)
OR
4 Explain the subsidiary functions of Commercial Banks.

ok sk ok ok ok ok ko ok o
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SeatNo:

BCMcomEC101D
B.Com. Semester - 1 (CBCS) Examination
Oct/Nov. -2019 (NEW COURSE)
COMPUTER SCIENCE - 1(ELECTIVE-1)
Marks: 50

Time: 2:00 Hours
Instructions:

1. All questions are compulsory.

2. Figures to the right indicate marks.

Ust-1

ud-1

U#-2

oflAstl Yaoti eltod e,

1Al etrttell cla@ sl el o

R, $CAl AUl AA asldl. o9
dlRud  (06)

3. Sloll§ iR uc tctell Avall tet, QL 3 9ot 3 3 olld A AsLAC H(2ell A

Ual secll WE dak s

wgal

o{lAcil Yot weliolt .
L AUANRUH aeld.
R. 8022 [Qe2? ual SWsER deldl.
3. Al slRL vl siedl o Avulel ARl Aadal HiZdl UANRUH ual el

U daAR 5.

(12)

o{lQell yslotl weitol el
.l et U U BUCAA GUQL aglel.

it Al etritetl WosHe] oluryl aeldl.

: u-2

Yy4-3

YH-3

y#-4

YH-4

yAUcll

Al QAetl Yot wcllol Gl

. fl elritet 53522 A2 aglal.

2.l eritotl 2Rl A 2ol Yus yBas agldl.
o{lAeil YAl cllol Gl

q. Al el printf() el puts() ol GuRldL aglel.
2. dl elrini %code ol GuAL agldl.

(12)

vldl

o{lQAotl Ysetl ellol Gl
ol ol MR vtuc Hizetl §52et cglel.
2. ol @Ml Back slash code (\codes)all GuNaL clglell.

o{lAell Ysllotl wcllod AL,

L. If..else o nesting clglell,
2. do... while() 92 while() ol GullaL aglel.
el

(12)

oflAett Yol ellol dAvil.,
1, switch() of vitt2gl agldl,

2. for() aeldl.
: C ekokofokoolokok oKk KR R ok Kok
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Que-1

Que-1

Que-2

Que-3

Que-4

Que-4

RSION

T2 ENGLISILVE

v A . K velt q,
Write answer any of the following question:

wteristies of € language. (04

(04
g number cither positive, negative or (05

1. Describes char
Describes symbols of flowchart.
and Algorithm for findin

-

3. Prepare flowchart
r from key board.

OR

zero inputted numbe

Writes answer of the following.

1. Describes Algorithm.

2. Describes Interpreter and Compiler.
3. Preparc Flowchart and Algorithm for printing sum of inputling 10 numbers
from key board.
Writes answer of the following questions. (12)

1. Describes use of variable and constant in C language.
2. Describes structure of C language.
OR
Writes answer of the following questions.
1. Describes character set of C language.
2 Describes Conditional and Relational operators in C language.
Writes answer of the following questions. (12)
1. Describe use of printf() and puts() in C language.
2. Describe use of %code in C language.
OR
Writes answer of the following questions.
1. Describe use of functions used for giving data in C language.
2. Describe use of Backslash code (\code) in C language.
Writes answer of the following questions. (12)
1. Explain nesting of if.....else.
2. Explain use of do... while() and while().
OR
Writes answer of the following questions,
1. Describes structure of switch(),
2. Describes use of for().

N o ok o o o o o o
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M BCMaccEC101A SeatNo:
B.Com, Semester - 1 (CBCS) Examination
Oct/Nov. -2018 (NEW COURSE)
ACCOUNTING - 1(ELECTIVE-1)

Time: 2:30 Hours Marks: 70

Instructions:
1. All questions are compulsory,
2. Figures to the right indicate marks.

PR -t —— cassmcmmmeme e

et s e e aEs e e e et 608 5 5ot s e e -

EYat

UK v, Qv WA wewd 5:3:2 ol YR dAfl-ofsalet adUcl AREl B, Auell Udlef 31-3- (20)
20194l A%¥ef 51y AAY (1A Yoo B,

GuIR w8 s Ul oLl 25U
Guts 33,000 | (el 38l 1,20,000
sllu? 25,000 | WAl WAl W A2 Ascet | 14,000
MEELTE 80,000 | 4l 2{dett ¢l 1,08,000
Yieisl 10,000 | QWG GREaRe] YIRAN 4,000
A el TaER | 43,000 | §l 23 Bt (1-4-2018) 20,000
Ass-As RActs 12,000
{25 Wl 10,000
wWLR 18,000
oug 12,000
2@ 8 v 5,000
waetdl wal 3,000
3wl 15,000
2,66,000 2,66,000
aurell Rdl:-

(1) ol 381 @wasll yslo 752 uA @erasll 43 wvaell ylot sox B.
(2) voell Guts (Awotl Guiselt 50% wal [Qorauell GULS elotl GUiSoll 80% B.
(3) RuuG GReaRA dL1-4-2017¢l 3« W2 AR B,
(4) Ul adl 53t WA 3300040 gletell WU WK wuda 2dd D,
(5) M2r612 U? 20%, Ydhl UR 15% U sEluR UR 10% uad a1l
(6) cit.1-4-20198l ¢to(lEt 42 ot.0f.0f YHIRL HRY 229,
All.31-03-2019 crletl cifls Baucd datR s2.

ual
YR RAM, RAM WA Hoteuid 2:20etl YMIGML olfl-ofseiiet cdatett s @ Vot cwdletd  (20)

B. cL.31-3-1901 Fagoll cutdladl oA sy B

3
£
=)

=
2N
72
o
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UH-

g

e A
"a]z/{lcﬁﬂ:i el
wWauR
gl
e
Reetdl
Qes A
Qovefl wal
WRBA-35L
W26
2B wal
ANt AUl®H
dlR-2uWd
sluR

.

atunedl uldl-

() uotzaussll 38l gatatoll H3let
(2) 34l uR 10% <=_U% atell.

(3) 2l adl ysad 3.1000
() A5 ullct-wddl uYAL MU

wldidl «Ad 8.
(5) Hst

o, 3erslR, ollAR ddl Y8l UR 10% An u

Lsox ua euusll ydl 2well

A e A
o A 3.5000 HAC Qoll uHLAal A

o vidl 43dct B.

A2l el

(6) anetl A YR 51 315,000 &cll.
(7) 1ot oitél $l 3.30,000 8.

dL31-3-201901l 2% Y=L Ul arlell A5Sel
5 dL1-1-2011ell A WA RK. 253 well As A s wile ug

(1) 522 auad ysagll (1-1-2011)

(2) yuH eudl
(3) ol sudl
(4) AlA eudl

(31-12-2011)
(31-12-2012)
(31-12-2013)
2istoll 25sEHd Rs.43,000 B, utd el wcdl cudlell At Yol 10% dQLelell B,

Rs.10,000.
Rs.20,000.
Rs.10,000.
Rs.10,000.

R AU 2oAuild A RK. 253qf vl dauR 52

AL.1-10-20054tt A A% 25T Blole s w2l As 24 eud wile ug@ell vy 350,000 &
o Al Asell Yscau uA citflell B cll.31-3-200620 AF Al AYL w5 sudil o2

yorol Ysdl.

(1) yay eudl (31-3-2006)
(2) olledl eudl (30-9-2006)
(3) Al eudl (31-3-2007)

WUl

Rs.41,000.
Rs.3 TQOO.
Rs.31,500.

Quetiz AUtalflls sUdl UR alls 10% AW caar 2@ B

Page 2 of 7

e ]
T gl o8l .-
= g 5,60,000
'76’65—5' onoller? ol Het MO 0000
40,000 | 5¢ él 0000
35,000 rRllciletl vitetl e
A0LELRL
1,13,000 ARLE J 0000
7,500 pllclett W wilell wedtedl
45,000
2,000
5,00,000
1.00,000
18,000
4,000
3,000
1,20,000 o
[10,57.500 10,57,500
osrs0|

ySloll 50% .

20 fls Gauel AR 53
el wilg 1A uxe ysagll 53l

Al Bsclloty

(2




A% 5o Rauoll and 31-wafou A y3 e B, €2 ad uedl ol wsled A 10% U3l
agLelletl B,
A% g5 AU %38l wictt Aurz 53,

YH-3 As qpRl "RsH dLi-1-20190 Ay Wacieaell ugel uge 43 53 udd dl.14-3-2019etl A% (1)
g 53, ugRell WRdl AA yopet B.
ool Bl 1%, of2 U2 W% 2%, AJ2 sRalet ¥cll 4% ANl 5%, AElRl U2 A HB.

10%, d&lel Wile ddlw 1-1-2015.
aAglBlell cl.1-1-2019¢1 QU3 Bud 3.3,00,000 AAeRA W.otslell 20% sBlaet Aadael

wU@s2 B.
#cll Auiclo] of2 7,50,000
aadl auidd of2 3,75,000
oigR uell Hogdl 2,22,500
32atell wouR (R-1Rs) 27,000
adladl wal uRs) : 11,250
WalR (AU culls) 18,750
gl i YiRas (A-ukls) 28,125
adel (aulls) ) 2,25,000
YRYReL vl 11,400
ARIACA Hidunal 1,87,500
RRECNH 50,000
U ey 29,500

U8R uld daR sA.

Ul

Ys-3 A5 AslRl “ocltlRl” dli1-11-20180ll A Holodl 5cll U5 23 531 UA dl.26-3-2019¢1 A% (15)

Yo wg 59, usell Wl oA Yoo B.

wiR (alds) 15,000
sleall 15,000
32olell wolR (AHIRS) 4,500
adladl wal (adallds) 10,000
qslglell <l (Rs) 1,000
uRyRQL Wl 10,000
auRde R 4,500
ol cAude] of2 50,000
dndl auidej o 35,000
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A3 5@ g1

PIER LY

oRell i

Aoy 5Bt ofrey
B way 3
A8l (Fayq
&R Wi danr g3

Ust-4 g SIRUelL R ey wel wiai-

1%
2%
3%
6%
5%

4,00,000

20190l HRAML “M" cRefell s U as 243 o0 Qe{) (i
R yiey wof By,

Hd-2019 @atd (B | euat (Rs.)

1 A3l Rs 2,500 2

4 WUl et | 1,300 -

6 YR WA e 200 -

13 W€l 3,000 4

17 YA Wl we | 1,000 .

21 R WA Wy 500 -

26 w3l 1,000 5

| 30 YA W3A e 500 -

W.21-3-201901 Aer 23\s0{) UG 520123 50 Bout. wetell ug M udl.
MR HI WLdLed) (R25 UAAs) FIFO U LIFO ugRsl] dar sl

wAAL

Ya-4 As sRuitettell N-2017 g0l HIGREIA "B A3 wuds-onasel Rl o3 Yorol B,

(15)
A-2017 @Qoatet 2 (o) | ewa (Rs.)
1 A3e{l cudl 250 20
5 wWilél 1750 18
8 uilEl 1000 22
13 YA udd W 1200 -
15 wilEl 200 T 25
18 YA ud we 1000 -
20 Wil 1000 . 15.2
25 YA uldd e 1500 -

UL.13-5-2017 U 18-5-20176ti Axoll *cls Bret otsd] 520 2> UeisN FIFO UA LIFO usl

tailotil Acll U cl1.20-5-2017¢1i Aovell eudlet wrael ug(d Guaaei ac,
HIGUHLotatl R5e] UAs da 53,
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Accound

2 ) ENGLISH VERSION
Que-1 Jay, Vijay and Ajay are partner of a firm sharing profit and loss in proportion of 5:3:2 the trial (20)

balance of the firm on 31-3-19 is as under.

Dr. Rs. Cr. Rs.
Drawing 33,000 | Capital 1,20,000
Furniture 25,000 | Advance recd. From clients towards sundry | 14,000

expense.
Motorcar 80,000 | Bills of Fees. 10,8000
Books 10,000 | Articled clerk’s premium. 4,000
Debtors for fees 43,000 | Reserve for fees (1-4-2018) 20,000

Cash-Bank Bal. 12,000

Motorcar expe. 10,000
Salary 18,000
Rent . 12,000
Telephone expe. 5,000
Stationary 3,000
Office expenses 15,000
2,66,000 2,66,000

Additional Information:
(1) Ajay’s capital is 75% of Vijay and Vijay’s capital is 80% of Jay.
(2) Ajay’s Drawing is 50% of Vijay and Vijay’s Drawing is 80% of Jay.
(3) Artical clerk’s premium was recd. On 1-4-2017 for three years.
(4) Rs.3,000 spent for clients was, by mistake. Included in office expenses.
(5) Depreciate: Motor Car at 20%, Books at 15% and furniture at 10%.
(6) From 1-4-19 partners agree to share profit-loss in equal ratio.
Prepare final Account for the year ended 31-3-19.
OR
Que-1 Ram, Shyam and Dhanshyam are partner sharing profit and loss in the ratio of 2:2:1 in a (20)
solicitor firm the Balances as at 31-3-2019 are under.

Debit Rs. Credit Rs.
Account of clients 70,000 | Total capital of partners 5,60,000
Salary 40,000 | Total Fees 4,10,000
Books 35,000 | Accounts of clients 10,000
Debtors 1,13,000 | Creditors 70,000
Stationery - 7,500 | Sundry exp. Ledger of client 7,500
Bank 45,000
Electricity charges 2,000
Office Building 5,00,000
Motor Car 1,00,000
Office expe. 18,000
Magazine sub. (exp.) 4,000
Postage 3,000
Furniture 1,20,000

10,57,500 10,57,500

Additional Information:
(1) Capital of Dhanshyam is 50% of Shyam and capital of Shyam is 50% of Ram.

(2) Allow 10% interest on capital.
(3) Rs.1000 paid for clients are included in office expenses.
(4) Rs.5,000 received from a client for sundry exp. Are credited in Advance account of

clients.
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Que-2 On 1-1-2011 Amit purchased a machine from R. K. Trader

Que-2  On 1-10-2005 Raj Traders purchased a machine from Anand traders on hire tpul;ch_asfhfyst;m. (20)
Payment made by bank chaque of Rs.50,000 on the same date and the balance to be in three half

Que-3

(5) Provide 10% depreciations on Building Motor C

(6) Unfinished work Rs.15,000 at the end of year.

(7) Fees to be received Rs.30,000.
Prepared annual account on cash basi

were made as under.

(1) On agreement (1-1-2011) Rs.10,000.
(2) First installment (31-12-2011) Rs.20,000.
(3) Second installment (31-12-2012) Rs.10,000.
(4) Third installment (31-12-2013) Rs.10,000.

Cash price of machine is Rs.43000.

s inichi method.
Depreciation is to be charge at 10% p.a. by diminishing balance

rending 3 13
s for the yea s on hire purchase system. Payment (0)

ar furniture and Books.

-2019.

Prepare machine A/c. & R. K. Traders A/c. in the books of Amit.

OR

yearly installment starting from 31-3-2006 as under.

(1) First installment (31-3-2006) Rs.41,000.
(2) Second installment (30-9-2006) Rs.37,200.
(3) Third installment (31-3-2007) Rs.31,500.

The vendor charged interest at 10% p.a. on half yearly rests bas.is. Raj Traders closes the
book annually on March-31. Depreciation at 10% p.a. on diminishing balances each year.

Prepared required A/c. in the books of Raj Trades.

A ship “Vikram” commenced its voyage on 1-1-2019 from Porbandar to Mumbai and returned (15) .

on 14-3-2019,

Details of the voyage are as under

Freight insurance 1%.

Primage on freight 2%.

Address commission on outword 4% and inward 5%.

Depreciation on ship at 10% on original cost, ship was purchased on 1-1-2015.

Book value of ship as on 1-1-2019 Rs.3,00,000.
The manager has right to get the commission at 20% on Net Profit.
Freight from outward Journey

Freight from inward Journey

Wages on port

Captain’s salaries (for two month)
Administrative expe. (monthly)
Salaries (half yearly)

Premium of ship insurance (one month)
Fuel (yearly)

Sundry expenses

Material used

Passage money

Mail money
Prepare voyage Alc.

OR
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1,50,000
3,75,000
2,22,500
27,000
11,250
18,750
28,125
2,25,000
11,400
1,87,500
50,000
29,500
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Que-3 A Shlp “Jaldhara” voyaged on 1-11-2018 from Bombay to Kandala and returned on 26-3-2019. (15)

Details are as under

Salaries (Annual) 15,000
Coal 15,000
Captain salaries (for three month) 4,500
Administrative expe. (Half yearly) 10,000
Ship insurance (monthly) 1000
Sundry expenses 10,000
Stores used 4,500
Freight for outward Journey 50,000
Freight for returned Journey 35,000
Address commission 1%
Primage 2%
Freight insurance 3%
Manager’s commission on freight 6%
Depreciation on Ship 5%
Value of Ship 4,00,000
Prepare Voyaga Account.
Que-4  The following information regarding item “M” For March-2019 from the stores of a factory. (15)
March 2019 Particulars Kg Rs.
1 Opening stock 2,500 2
4 Issued 1,300 -
6 Issued 200 -
13 Purchased 3,000 4
17 Issued 1,000 -
21 Issued 500
26 Purchases 1,000 5
30 Issued 500 -
The stock verification revealed a shortage of 50 Kgs.
On 21-03-2019. Prepare store ledger as per FIFO and LIFO method.
OR
Que-4 The following is a summary of receipts and issues of material “B” in a factory during May-2017  (15)
May 2017 Particulars Kg Rs.
1 Opening Balance 250 20
5 Purchased 1750 18
8 Purchased 1000 22
13 | Issued 1200 -
15 Purchased 200 25
18 Issued 1000 -
20 Purchased 1000 | 15.2
25 Issued 1500 -

The material issued on 13-5-2017 and 18-5-2017 were priced on “FIFO’’ and “LIFO”* basis
respectively. It was decided to price the issues by “Weighted Average Method. From 20-5-2017.
Prepare stock Register for Material.
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